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252 ¢ Chapter 6 - Linear Equations

7. Match each description with an equation.

a) Slope=—13, passing through (-1, 2) ) y=3x

b) Slope =3, y-intercept (0, — 6) iy y= —%x
¢) Passing through (0, 0) and (3,- 1) i) y=—3x
d) Passing through (0, 0) and (- 1, 3) ’ vy x—3y=6
e) Passing through (2, 0) and (0, — 6) v) 3x—y=6

vi) y—2=-3(x+1)

vipy+2=-3(x—1)

8. Match each equation with the graph it most closely resembles.

a) y=x—2 ) \ i) 1 /

b) y=-x—2 ) N )

) \ ) P3
¢) y=—x+2 /
d y=x+2 ‘

iii) \ 1 iv) /

pd
-
N\

9.  Write the equation of each line in slope-intercept form.

a) (0,2), m=2 b) (0,-3), m=%

9 (0.8) =0 d (0,-2), m=-%
S R | : _

e (0, %) m=—7 0 (0,2.3), m=04

7. a)vi byv ¢ ii d)yii ey v
) A'W% wWer' < '
8. a)ii b)ii ¢ i d)iv ‘
THEORY &
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e —

5.4 Exercise Set

Poswes:

15
g) m; = 12’

) m=+v8 m=2/2

k) n =—0125, My = 8

1. a) neither

h) parallel
~. Complete the table.

b) perpendicular

i) parallel

-4
undefined
undefined
undefined
0
0
0

k) perpendicular

Determine if the following slopes are parallel, perpendicular, or neither.

b) m =5, m2=—%

d) nm; = O,

i) m|=0,m2=0

h) m1=4,m2=T

12

m, = undefined

D m=0125 m=5
) mi=ab’', mi=—a’'b
d) perpendicular e) neither

¢) parallel

I) perpendicular

Line [, has slope m;, line I, has slope m., line I, has slope ms, with I;111;,and I, L 15

f) parallel

T
2 2
3 3
3 | 4
4 4 3
bs 1 o
4 4 :
undefined | undefined 0
undefined | undefined 0
0 0 undefined
0 0 undefined
0 0 undefined
undefined | undefined 0

g) neither

-
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236 ¢ Chapter 5 - Linear Functions i i
3. Determine whether the line passing through the first pair of points is parallel, perpendicular, or neither to the ]
line passing through the second pair of points. =1

(@

a) (3,2)and(1,4); (-1,—2)and -3,-4 b) (5, 6)and (7, 8); (—5,—6)and (-=7,-8) -

C

-

-

G

o

@=

¢) (0,4)and(—1,2); (-3,5)and 1,7 d) (2,3)and (3,0); (—2,-5)and(1,~ 6) -
(i

=

(=

L

o

¢) (3,5)and(-2,5); (1,4)and(l,— 2) f) (4,-3)and(-2,-1); (10,- 1)and (1,-4)
® (a,b)and (b,4); (c,d)and (4, c) h) (a,5)and (b,a); (c,d)and (£, <)
) (a,b)and (b,a); (~c,d)and (-d,c) D) (a,b)and (b,a); (c,d)and(—d,-c)

AV\SN we:

3. a) perpendicular b) parallel c) neither  d) neither ) perpendicular ) neither g) parallel
h) neither j) parallel  j) perpendicular
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